Honors Geometry

Ch. 8 Study Guide
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Find the missing side of each trlangle Leave your answer
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Find the value of each trigonometric ratio.
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Find the missing side. Round to the nearest tenth.
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Find the measure of the indicated angle to the nearest degree.
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Find the missing side lengths. Leave your answers as radicals in simplest fdtjp.

i %4}'5"%*“3 e KMQX
45°
2r % 'll 2
z

6 V'-""é _2(
B L .sf2 | 29)
| ] 7 %E N %E'{i
N SaaSl2 M2 252 20 "’"%}7_:?




30) _gdz-A2=¢ 31)
i =8
45°
a2 n=f2
)y 33) 6-2=)2
- n8 - Lll 60 2e
A > :
g >3

. =
36) 37)?'@ "@‘- 378 = 5 33T =12
u =2 - g & I.|
| v 20 eoy 3'5"5_'-‘-%4'5
C 22
39)
8 3 %- 0 i
=4S
x4
° ERCAERE i
S 6o
8?
2Js-L.38g
5 1> z’-;-g‘G‘--g:@




Name G Date ’

Practice 8-5 Angles of Elevation and Depression
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. Describe each angle as it relates to the diagram.
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Find each measurement indicated. Round your answers to the nearest te
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